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Note : This paper is of eighty (80) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What do you understand by international business 

environment ? Discuss its nature and point out its 

significance. 

vUrjkZ”Vªh; O;kolkf;d i;kZoj.k ls vki D;k le>rs gSa \ 

bldh izd`fr dk foospu dhft, rFkk blds egRo dk 

mYys[k dhft,A 

2. What is meant by elasticity of demand ? Explain the 

various types of price elasticity of demand. 

ek¡x dh yksp ls D;k rkRi;Z gS \ ewY; ek¡x dh yksp ds 

fofHké izdkjksa dh O;k[;k dhft,A 

3. Explain the relationship between fixed costs, variable 

costs and marginal cost. Do fixed cost ever vary ? Are 

variable costs ever fixed ? Elucidate. 

fLFkj ykxrksa] ifjorZu’khy ykxrksa rFkk lhekUr ykxr esa 

lEcU/kksa dh O;k[;k dhft,A D;k fLFkj ykxrsa dHkh ifjofrZr 

gksrh gSaa \ D;k ifjorZu’khy ykxrsa dHkh fLFkj gksrh gSa \ 

le>kb,A 

4. Explain the various methods of computing National 

Income. 

jk”Vªh; vk; dh x.kuk dh fofHké fof/k;ksa dh O;k[;k 

dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Globalisation 

oS’ohdj.k 

2. Opportunity cost 

volj ykxr 

3. Exceptions to the Law of demand 

ek¡x ds fu;e ds viokn 

4. Production Function 

mRiknu Qyu 

5. Normal Profit 

lkekU; ykHk 

6. Shut down point 

mRiknu&LFkxu fcUnq 

7. Substitution Effect  

izfrLFkkiu izHkko 

8. Inflation 

eqnzk LQhfr 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. When we say that a demand curve for a commodity 

slopes  downwards to the right, we mean that : 

(a) More of the commodity will be demanded as 

income rises. 

(b) More of the commodity will be demanded as the 

price of a substitute rises. 

(c) More of the commodity will be demanded as its 

own prices falls. 

(d) More of the commodity will be bought as 

population  rises. 

tc ge ;g dgrs gSa fd ek¡x oØ nkfgus uhps dh vksj 

fxjrk gS rks] gekjk rkRi;Z ;g gksrk gS fd % 

¼v½ vk; dh o`f) ds lkFk vf/kd oLrqvksas dh ek¡x dh tkrh 

gSA 

¼c½ vf/kd oLrqvksas dh ek¡x dh tkrh gS D;ksafd LFkkukié 

oLrqvksa dk ewY; c<+ tkrk gSA 

¼l½ oLrqvksa dk ewY; fxjus ds dkj.k vf/kd oLrqvksas dh 

ek¡x dh tkrh gSA 

¼n½ tula[;k esa o`f) ds lkFk gh vf/kd oLrqvksas dk Ø; 

fd;k tkrk gSA 

2. If elasticity of demand exceeds unity, a fall in price : 

(a) Reduces total expenditure 
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(b) Increase total expenditure 

(c) Does not affect total expenditure 

(d) Makes the total expenditure zero 

;fn ek¡x dh yksp bdkbZ ls vf/kd gks tkrh gS] rks ewY; esas 

fxjkoV % 

¼v½ dqy O;; esa deh ykrh gS 

¼c½ dqy O;; esa òf) ykrh gS 

¼l½ dqy O;; dks izHkkfor ugha djrh gS  

¼n½ dqy O;; dks ‘kwU; dj nsrh gS 

3. Net National Product (NNP) excludes : 

(a) Interest 

(b) Profits 

(c) Rents 

(d) Wages 

‘kq) jk”Vªh; mRikn esa lfEEkfyr ugha gksrk % 

¼v½ C;kt 

¼c½ ykHk 

¼l½ yxku 

¼n½ etnwjh 

4. In case of a Giffen goods like Bajra, a fall in its price 

tends to : 

(a) Make the demand remain constant 

(b) Reduce the demand 

(c) Increase the demand 

(d) Change the demand in an abnormal way 
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fdlh fxQsu oLrq tSls cktjk ds ewY; esa fxjkoV % 

¼v½ ek¡x fLFkj j[krh gS 

¼c½ ek¡x eas deh ykrh gS 

¼l½ ek¡x esa o`f) ykrh gS 

¼n½ ek¡x essa vlkekU; ifjorZu ykrh gS 

5. Fixed cost increases when : 

(a) Variable cost per unit increases 

(b) Variable cost per unit decreases 

(c) Production volume increases 

(d) Production volume decreases 

fLFkj ykxr esas òf) gksrh gS tc % 

¼v½ izfr bdkbZ ifjorZu’khy ykxr esa òf) gksrh gS 

¼c½ izfr bdkbZ ifjorZu’khy ykxr esa deh gksrh gS 

¼l½ mRiknu dh ek=k esa o`f) gksrh gS 

¼n½ mRiknu dh ek=k esa deh gksrh gS 

6. The Law of Diminishing returns occur when a firm : 

(a) Uses too much of all inputs 

(b) Uses more and more of one input while holding 

all other inputs constant 

(c) Does not utilize the inputs efficiently  

(d) Cuts down on the quantity of all inputs it uses 

mRifŸk kl fu;e ykxw gksrk gS] tc ,d QeZ % 

¼v½ lHkh vknkuksa dk vR;f/kd iz;ksx djrh gS 

¼c½ fdlh ,d vknku dk vf/kdkf/kd iz;ksx djrh gS 

tcfd vU; vknkuksa dks fLFkj j[krh gS 

¼l½ vknkuksa dk dq’kyrkiwoZd izz;ksx ugha djrh 

¼n½ iz;ksx esa vkus okys lHkh vknkuksa dh ek=k esa dVkSrh 

djrh gS 
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7. Which of the following statements is not true ? A 

discriminating monopolist : 

(a) Operates in more than one market 

(b) Makes more profits because the discriminates 

(c) Maximise the profit in each market 

(d) Charges different prices in each market 

fuEufyf[kr esa ls dkSu lk dFku lR; ugha gS \ ,d 

foHksnkRed ,dkf/kdkjh % 

¼v½ ,d ls vf/kd cktkjksa eas dk;Z djrk gS 

¼c½ foHksn ds dkj.k vf/kd ykHk izkIr djrk gS 

¼l½ izR;sd cktkj essa ykHkksas dks vf/kdre djrk gS 

¼n½ izR;sd cktkj essa fHké&fHké ewY; olwy djrk gS 

8. Monopolistic competition differs from perfect 

competition due to : 

(a) Small number of firms and homogeneous 

products 

(b) Large number of firms and homogeneous 

products 

(c) Small number of firms and similar products 

(d) Large number of firms and similar products 

,dkf/kdkjkRed izfr;ksfxrk ds iw.kZ izfr;ksfxrk ls fHkérk dk 

dkj.k gS % 

¼v½ Qeks± dh de la[;k rFkk ,d:i mRikn 

¼c½ Qeks± dh vf/kd la[;k rFkk ,d:i mRikn 

¼l½ Qeks± dh de la[;k rFkk leku mRikn 

¼n½ Qeks± dh vf/kd la[;k rFkk leku mRikn 
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9. Full cost pricing is useful particularly : 

(a) In single product case 

(b) In multiproduct, single process, single market 

case 

(c) In multiproduct, multiprocess, single market case 

(d) In multiproduct, multiprocess, multimarket case 

iw.kZ ykxr ewY; fu/kkZj.k fo’ks”kr% mi;ksx gksrk gS % 

¼v½ ,d mRikn dh fLFkfr esa 

¼c½ cgqmRikn] ,d izØe] ,d cktkj dh fLFkfr esa  

¼l½ cgqmRikn] cgqizØe] ,d cktkj dh fLFkfr esa 

¼n½ cgqmRikn] cgqizØe] cgqcktkj dh fLFkfr esa 

10. Special Drawing Rights (SDRs) are associated with : 

(a) International Bank for Reconstruction and 

Development (IBRD) 

(b) World Trade Organisation (WTO) 

(c) International Monetary Fund (IMF) 

(d) Asian Development Bank (ADB) 

fo’ks”k vkgj.k vf/kdkj lEcfU/kr gS % 

¼v½ vUrjkZ”Vªh; iqufuZek.k rFkk fodkl cSad ls 

¼c½ fo’o O;kikj laxBu ls 

¼l½ vUrjkZ”Vªh; eqnzk dks”k ls 

¼n½ ,f’k;kbZ fodkl cSad ls 
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